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CHEMISTRY
BOOKS - MS CHOUHAN
HYDROCARBONS (ALKYNES)
1. Complete the following reaction

(o}

|
J:"GHE 1) IKaMil,,
O/ M, (A) —m=nied () ; Produet (B) is:
T om0 2 H* o,
j JCH == CH,

A.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AmiMZaHMRt7M

: o= CH

: , CH,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AmiMZaHMRt7M

2.

B (i) alc. KOH )
Z, > (A),Product (A) is :
CCly  (ii) NaNHz major

A H,C = CH — CH = CH,

B.CH; — C = C — CHjs

C.CHg—CHz—CECH

D.CH; — CH = C = CH,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6GyECVBz0Bfq

NaN H-
3 CH;CH,C = CH -2 1

_D=0 » 1 2 LK)

F..I:D

Product (K) of the above reaction is :

? Cm=C— Kt
A.
OH

dc- C— Kt
B.

H

l}: C = C—CH; —CH,
C.

% .C_C-— GH3
D.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_stZLTTLh3h4N

4.

CHs —CH; —CHy —C=CH+ LiNH>

Lithium amide

Give the structural formula of compound (B) :

A.CHjz — (CH2)2 —C=C-S0OsH

B.CHjz — (CH2)2 —C=C—-CH;s

C.CHs — (CHy),—C=C—CHy, — O —

D.CH3 —CHy; — C =C — CH,

Answer: B

(CH3) ,50,4

— (A) ——— (B

o

|
ﬁ—H
o

o Watch Video Solution



https://dl.doubtnut.com/l/_stZLTTLh3h4N
https://dl.doubtnut.com/l/_46fDhzdlSB3u

- Gy - CHy - CH,

5. , This
conversion can be achieved by :

A.NaNH,, CH;CHO

B.NCLNHg, CH3 - CH2 - CHQ — Br

C. KOH, CH3 — CH2 — Br

p. KOH, CH, — CH,

\ |
Br Br

Answer: B

° Watch Video Solution

6. Which alkyl will give 3-ethylhexane on catalytic hydrogenation ?


https://dl.doubtnut.com/l/_JjF492GhpZbz
https://dl.doubtnut.com/l/_spnPYtDoSZiW

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_spnPYtDoSZiW

7.Reactant P gives products Q of R.
H
H
\_/ H
F o R

The possible reagents are :
(1) 2Na/liq. NH; (1) Hy / Pd / CaCOs (quinoline) (1) 2H, / Pd / C
The correct statement with respect to the above conversion is/are :
A. Q is obtained on treatment with reagent (I)
B.R and Q are obtained on treatment with reagent (I1)

C.R is obtained on treatment with reagent (1)

D. R is obtained on treatment with reagent (ll)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GKowdMYYnC2P

Lindlar
(A) 5 (B), Product (B)
Catalyst

D.Br — (CH,) — CH = CH,

Answer: C

o Watch Video Solution

MeO~
9. Ph — C = CH —— Major product of the reaction is :
MeOH


https://dl.doubtnut.com/l/_FJdaBf5in0i2
https://dl.doubtnut.com/l/_ZhReNpJJ50pB

C.Ph—-—C=C—-0OMe
Ph - G = Ci1,

OMe
D.

Answer: B

° Watch Video Solution

cl

| 3NaN H, .
10. Ph — C — CH3 —— (A) ,product (A)is :

(|Jl Product

A.Ph — CH = CH>

B.Ph—C=CH

C.Ph — CHy; — CHj3


https://dl.doubtnut.com/l/_ZhReNpJJ50pB
https://dl.doubtnut.com/l/_FimrhCNopghp

NG
D. Ph — C = CNa

Answer: D

o Watch Video Solution

11. Which combination is best for preparation of the compound (A)

shown below ?

cil,
Wi CH,CH,GH,C = a1

CH4CH; (A)

H

i i etyeH,crgBr 22T 4

A. CHACH,

CH,

Home b crcinarse 20= 9 )

B. e,

H

G ":iC—Br 1 NanH, MM,

— (4)
2. BCH GH ,GH ;G CH
C CI,CH,
.


https://dl.doubtnut.com/l/_FimrhCNopghp
https://dl.doubtnut.com/l/_MKOsXmq8Zn2o

Cily
i MaNH . NH
——————— ——+{A)

I!h...C — B ——
2 BreH ,GH ,CH yOe GH

D. cHicH:

Answer: B

o Watch Video Solution

12. Which one of the following is the intermediate in the
preparation of a ketone by hydration of an alkyne in the presence

of sulfuric acid and mercury (ll) sulphate ?

“ﬂ\/\)\
A.

~

OH


https://dl.doubtnut.com/l/_MKOsXmq8Zn2o
https://dl.doubtnut.com/l/_qZIgYaHhuvpd

Answer: D

o Watch Video Solution

Q)
-k —a
13 (oj\o Chlg — € = CH 070 CH; C=C CH,  CH, — CH,. Br
.

To carry out above conversion , (A) and (B) respectively, are :
A. NCLNHg, Cl — CH2 — CHZ - CH2 — Br
B.NCI,NHz, F — CH2 - CH2 - CH2 — Br
C.N(LNHz,I — CH2 — CH2 — CH2 — B’l”

D. NaNH,,I — CH, — CHy — CHy — I

Answer: C



https://dl.doubtnut.com/l/_qZIgYaHhuvpd
https://dl.doubtnut.com/l/_jsSo8n6rpXgX

| o Watch Video Solution

14. H—-C=C - Ph

I
e SN

H-N, L0

obtained in this reaction is :

, Product

A Ph-C=CH-1
|
I

B.Ph— CH — CH, — T
|
I

CPh-C=C-1

DI-C=C—-H

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_jsSo8n6rpXgX
https://dl.doubtnut.com/l/_zNH0Oo2tSrbz

15.

CH

(i)NaNﬂz,NHg

\
7

(4i) CH3Br

e (]

H>

A) ———— (B), Product (B) is :

Lindlar catalyst


https://dl.doubtnut.com/l/_zNH0Oo2tSrbz
https://dl.doubtnut.com/l/_vwTZpkj3wUkO

Pl
“H

\.
D

Answer: C

o Watch Video Solution

16. Which of the following alkyne on treatment with H5 (2 mole)/Pt

gives an optically inactive compound ?

A. 3-Methyl-1-pentyne

B. 4-Methyl-1-hexyne

C. 3-Methyl-1-heptyne

D. None of the above

Answer: A



https://dl.doubtnut.com/l/_vwTZpkj3wUkO
https://dl.doubtnut.com/l/_tsvsWnd92i4P

I o Watch Video Solution

H,0 Red hot Cu tube
17. CaCs = (A) i (B), product (B) of the

(Calcium carbide)

reaction is :

A. Toluene
B. Ethyl-benzene
C.Benzene

D. Butyne

Answer: C

o Watch Video Solution

18. What is the final product, C, of the following reaction sequence

?


https://dl.doubtnut.com/l/_tsvsWnd92i4P
https://dl.doubtnut.com/l/_D6hPXL8GW2mo
https://dl.doubtnut.com/l/_bNTXVIfBR170

!-ll:II
B—5; 10, ¢
r
r
A.
r Br
B.
Br
\)Y"“‘"
NH,
C.
\/EJH\I/
Bi |
D.

Answer: A


https://dl.doubtnut.com/l/_bNTXVIfBR170

o Watch Video Solution

13
Compound (0 —gi> > CH, — CH, — Gl — CHy
NGO
IL’ Precipitate
0

0 0
o, II ? (] Il ? CcHO
H-C—-CH, Cly - C-C-H+H-C-C O-H+H-C—-0-H.|

19. " cHo

A=

Compound (X) will be :

p o= oncma
g {=an-an—cman
c. {O=on—an—cm=an
b, == ai—c=a

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bNTXVIfBR170
https://dl.doubtnut.com/l/_Zg0D8H2UqcVA

20. Choose the sequence of steps that describes the best synthesis
of 1-butene from ethanol :

A.(1)NaC = CH, (2)H,, Lindlar Pd

B.(1)NaC = CH, (2)Na, NH;

C.(1)HBr,heat,(2) NaC = CH, (3) H,, Lindlar Pd

D. (1) HBr, heat, (2)
KOC(CHjs),, DMSO, (3)NaC = CH, (4)H,, Lindlar
catalyst

Answer: C

o Watch Video Solution

21. Which alkyne yields butanoic acid (CH3CH;CH;CO5H) as

the only organic product on treatment with ozone followed by the


https://dl.doubtnut.com/l/_2IeZ4vW6TfKG
https://dl.doubtnut.com/l/_GsujInbrAJ6x

hydrolysis ?

A.1-Butyne

B. 4-Octyne

C. 1-Pentyne

D. 2-Hexyne

Answer: B

o Watch Video Solution

—Ti, O—mil CH, un,@
(A)

22, Carlina oxide

Unit of unsaturation in compound (A) ?

A7

B.8


https://dl.doubtnut.com/l/_GsujInbrAJ6x
https://dl.doubtnut.com/l/_K0iFFo8kEPxq

C.9

Answer: C

o Watch Video Solution

O

E:‘Sc, o L (A) NeOH | (g

23. 0

product (C) of above reaction is :

A. HQC == CH2

B.CH; — C = C — CH,

CHC =CH

D.CH; — CH = CH — CHj

Answer: C

Holle rictroiysin

» (C)



https://dl.doubtnut.com/l/_K0iFFo8kEPxq
https://dl.doubtnut.com/l/_yjYxvq3XySVS

° Watch Video Solution

24. To convert 1-butyne to 1-D-butanal, one would carry out the
following steps:
(1) Sodium amide, then D,O
(1) Disiamy Iborane , then hydrogen peroxide/sodium hydroxide
(1) The transformation can not be carried out with the indicated
reagents.

A. |, followed by I

B. I, followed by |

c.

D. 1l

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yjYxvq3XySVS
https://dl.doubtnut.com/l/_pHlAnT70OAFm

25. An unknown compound (A) has a molecular formula C,Hg.
When (A) is treated with excess of Br, a new substance (B) with
formula CyHgBr, is formed. (A) forma a white ppt. with
ammonical silver nitrate solution. (A) may be:

A. But-T-yne

B. But-2-yne

C. But-1-ene

D. But-2-ene

Answer: A

o Watch Video Solution

26. 1, 2-Dibromo propane on treatment with X moles of NalNH,

followed by treatment with ethyl bromide gives a pentyne. The


https://dl.doubtnut.com/l/_pHlAnT70OAFm
https://dl.doubtnut.com/l/_N8zBAZUclO1O
https://dl.doubtnut.com/l/_hDSjnx4noQaI

value of X is :

A. One

B. Two

C.Three

D. Four

Answer: C

o Watch Video Solution

CHj

excess HBr

|
27.CH; —-CH-C=CH ——
The product of the above reaction is :

CHs Br Br
| \ |
A.CHs — CH — CH — CH>»
CH3 Br

| |
B.CH; — CH — C = CH,


https://dl.doubtnut.com/l/_hDSjnx4noQaI
https://dl.doubtnut.com/l/_ClbcOOe9j5QD

CH3 Br
| |
C.CH; — CH — |C— CHj

Br
CHs Br

| |
D.CH3; — CH — CH> — C]H

Br

Answer: C

o Watch Video Solution

28.CH; — C = C — CHy 222 KM% )

product (A) is :

(@) @)

T
ACH;—CHy,—C —-C - H

(0] (0]

I
B.CH; —C —C — CHj

OH OH

| |
C.CHs —CH — CH — CH;3

D.O=CH - CH; — CH,CH = O


https://dl.doubtnut.com/l/_ClbcOOe9j5QD
https://dl.doubtnut.com/l/_ePk6sgjirtUw

Answer: B

o Watch Video Solution

29. In which reaction last productis Ph — C = CH ?

Br
| SNaNH,  NHCI
2 4
A. CGH5 —C — CH3 > >
| Mineral oil, heat
Br
Bro 3NaN H> NHCI
B.C¢H;CH = CH, > > >
CCly Mineral oil, heat
(0]

[ PCls  3NaNH:  NH.Cl
C. 06H5 — C — CH3 > > >

Mineral oi, heat

D. All

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ePk6sgjirtUw
https://dl.doubtnut.com/l/_yv79RGxFU5x7

30. Predict the product of the following reaction sequence.

(1) excess NaNH,
ethyne >
(2) excess I—CHs— (CH2),—CH3

A. 6-iodo-1-hexyne

B. 1-hexyne

C. 5-decyne

D. 1-iodo-1-hexene

Answer: C

° Watch Video Solution

31. The best sequence of reactions to prepare 2-heptanone is

NaNHy __ n—CiHoBr __ HyO,Hg*"
A. propyne > X > Y >
H,S0,

NaNHs . n—CsHpBr __ HO,Hg*"
B. ethyne > X > Y >

7
H,50,


https://dl.doubtnut.com/l/_L6sKapqggl77
https://dl.doubtnut.com/l/_SvDXQ079Ud9d

NaNH, __ CH»Br __ H,O,Hg**
C. 1-hexyne > > Y >

H,S0,
NaNH, CyHsBr __ H,O,Hg*"
D. 1-pentyne > > Y >
H,S0,
Answer: B

° Watch Video Solution

32. The major product of the reaction of 2-butene with cold alkaline

KMnQy,is


https://dl.doubtnut.com/l/_SvDXQ079Ud9d
https://dl.doubtnut.com/l/_nQNF3Qsp9Pxq

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nQNF3Qsp9Pxq

